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- B 40,0002 +20% 128 = 9,600
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O D4 NS ALY 2,033,3238112+668 = 147,400
110.05. 10t AH| 14,626 12,829 1,797
© QIR AHI(XR) 51,017,5009! %86%+1/30+ 102 = 14,626
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© 2Z 8 MUBSH(DSHLY, HIZTYUSHAHAS S)
2,400,000% = 2,400
O KT-MOS(R IO AIAE) A E 176,0002 + 128 = 2,112
© DEHLY Y 3lE2(16) 3,564,000 +128= 42,768
© Hol2Ls 0ISE(45814) 247 50091 % 128 = 2,970
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A £ 0l &8 B Al A
SAHAAS 1 20234
2V FH DSFHUL o ch2 L HES2Y MR FESF2INE S:(210)224l O AR
N = PSIEl= m
i = O AF o M u] T o = 9l %
PR B S I SR Ofl &F2H s &
O WsI| Bt E 900,000 = 900
O HEAH SAE AIEZ 286,000& 128 = 3,432
© EHOIXN &EZHL &= 1,100,000& = 1,100
210.06. 282 1,000 1,000 0
O MelEENSs S T8 ZA=Z 500,000 *x23| = 1,000
210.09. AIEZHIRXIHI 15,000 12,000 3,000
O MaSAEH =&KX 15,000,000& = 15,000
210.13. 22249l 160,085 149,397 10,688
O & PC KX+ 19,965,000& = 19,965
O ZEHBEANLAE S8 RANES
Hob AIAE, S8 EHOIX S 140,120,000& = 140,120
220. O4Hl 3,600 3,000 600
220.01. =LHOHI 3,600 3,000 600
O dE3 HF F& (¢l 600,000 x6H = 3,600
230. R =&l 2,000 2,000 0
230.02. ZtM R =& 2,000 0 2,000
O 23 ¥2 FA 24E3 S MA 2,000,000& = 2,000




IHAHE 20234

2V FH DS UL o ch2 L HES2Y M EESFSIXNE S:(430) 7 Aot (A& &)
o = Ol &F oH au= ul &t = | =
PR B S I SR Ofl &F2H z &

430. =& XAt 3,000 206,944 A203,944
430.01. XHaHFE S 3,000 206,944 A203,944

O #H JRZ W A3 #¢ 300,000 = 10CH = 3,000
07.03. J|&22Z 2| 1,838,036 1,760,491 77,545
07.03.01. JI23=s=29Y 1,823,036 1,745,611 77,425
110. eI24d] 364,528 368,114 A3,586
110.03. &8Y=3 344,158 311,744 32,414

O JIZHZ2A S0 317,684

o 22 274,843

2 256,537

- A& 11,000. 723250 Al 2H+5H 128 = 165,011

- SUEA, MREX(LEH) 88,005.6% 4 H+260L = 91,526

== 88,005.6% 45«52 = 18,306

o HdUtMNZ 200,000& x9H 13| = 1,800

o X2 35,641

Ort2 R =4 5,499.8% *60Al 2Hx5H 128 = 19,800

ANZ2tRI2f =5 16,500. 53 *20 Al 2t x4 H + 128 = 15,841
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300,000& x9H 23| =

317,684,000 *1/12& =

5,400

26,474
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100,000 150 =

(I 21150,000& 30+ 1H )+( = U2 218, 125 #48A| 2H+1H ) =

,000
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H0
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OIASI A EZZ Y H2t AAEBE
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A% FE2

oI EZ2 08 MXAS0IM AMEIA
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AEE, ALLDA,

M| ABE(HEF, 0
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5,500, 000& 42

52,024,000& =

20,000,000& =

5,000,000& =
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10,000, 000& =
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Jlpege MRIIRRERSY 2:(210)2H| (chol: ® )

= AF o aes o At = p =

= Ofl AF 5
© FHII WEZA 2HE g1 7 25024 +5,0007H = 1,250
© BRUL 2HTIF +42 200,000 ¥203] = 4,000
0«22 Hlz2 L UK 2,000,0002 = 2,000

307,250 273,050 34,200
0 4BI+% 23 9,000,0008*122= 108,000
o ®iez 12,000,0002*122 = 144,000
© AL 22l 22l @12, JbAH| 18,000,0008= 18,000
0 H3ZE 2u Ml 1,750,0002 = 1,750
0 283 S B3l 55
HI|, A%, IBS, HUXIESH S 80,0002 = 800
© 2B NS 200,000 *5CH = 1,000
0 BBUT AWML 23 250,000 *2CH = 500
o HIilEHa 23 3,000,000 = 3,000
O AEHBRIARL Z2R3
(FJ] 300,000 %122 )+(S 4 100,000 %128 ) = 4,800

O ABHBAANSL 22l 600,000% 122 = 7,200
O d&d X FAFI| A2 1,100,0002*128= 13,200
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Al of & 8 Al A
SIHAS 20234
22 HFH: psHFyAG o J|A2I 22 ARIIABSRE =2:(210)244H| CHR &)
n = ME m
i = A o & u] - o = 9l %
PSS R A= Ofl Ak E
0 &Y RER2 5,000,000& = 5,000
210.03. Il =4 3,600 2,250 1,350
O 22X, ZHIA I=bl 200,000& *18Y = 3,600
210.05. S20HAH| 14,400 12,480 1,920
O &3 E2 Ayl 8,000 x15H*10L x12& = 14,400
210.06. 2d¢ 77,400 72,600 4,800
O YA 28 29,400,0003+A & & 48,000,000& = 77,400
210.07. Xt = 270,400 224,000 46,400
O HN&EXE & &Y itz 500,000& x4 & = 2,000
O HeALD|, 8l LX2(=E%D] 34, BlAl 35) 18,000,000& = 18,000
O XA YXUB(F=2E 114!, Hx 440) 72,000,000& = 72,000
O SsHA = 400,000& * 160 *2CH = 128,000
O & 2EX Lz 2,000,000& x12& = 24,000
O gt AIRE S8 Xtz 200,000& =108 W+ 12& = 24,000
O N=s AFMAMSI dxz 100,000 *2CH*12& = 2,400
210.08. 7 &4 131,000 140,000 A9,000
O B2 JtAd] S AlIFA 95,000,000 = 95,000




A2 FDSUIAY SDBRABY NRIIBIESY =2:(210)22H (oo @)
n = ME m
i = O AF o & u] - o = 9l %
PSS R A= Ofl Ak E
O 2SI FFHI 7,200,000& x50H = 36,000
210.09. Al& & UK XIHI 208, 100 215,100 AT7,000
O A& £ JIHEH SXNEx 10,000,000& x12& = 120,000
O dI|&H KA 2,500,000& x12& = 30,000
O )| ZHEA 2 A= 6,000,000& = 6,000
O g2 & NI HAL
FIEZ2 1,000,000 +& I & Z AL 4,000, 000& = 5,000
O EEHIIZ2 Myl HA OIXF S JFF 5,600,000 = 5,600
O AYAIE WA 2RI, g8, 835, 25 S 8,000,000& = 8,000
O dute)| AX 2UH3AH 15,000,000& = 15,000
O 22 & XNEINEEHIZ MHZISA
£21243,000,000&+X1€3,500,000& = 6,500
O 2EXtE 7 ALl 1,000,000& *x12& = 12,000
210.12. LBtE 9| 6,000 6,000 0
O UeEtalH MHMREOA &4 L Z2A2ZA 24 6,000,000& = 6,000
210.13. 22|24 H| 81,400 53,400 28,000
O Ost W HIIZ2 Helss 10,000,000& = 10,000
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2IMNE2 dM: DFHF AL o )|a2gae| MEIIHABSSE =S:(210)24H| (2 &)
N ==} X‘l‘—:|_'|:_ m = X
i = O AF o & u] - o = 9l %
-G MR- = 01l At oH s &
O ROIMXAEY 24 1,800,000 *12& = 21,600
O &8I AN 4 222,222 *3N*12& = 8,000
O AYAE g2 29 900,000& x12& = 10,800
O HAI A5 Y 2A 250,000& x12& = 3,000
O H=Z2 H)| HNEE 284 14,000, 000& 23| = 28,000
210.14. JIEI2HH] 7,800 7,800 0
O 2 FA 29l 7,800,000& = 7,800
220. Oddl 40,000 40,000 0
220.01. =LHAHI 40,000 40,000 0
O HAEAR F& 2LHOYI 40,000,000 = 40,000
230. YRF&| 62,000 62,000 0
230.01. AFE=&H| 10,000 10,000 0
O SotAY =X S ey gRFA 10,000,000& = 10,000
230.02. 2N H2FEH| 52,000 52,000 0
O U2 R 2tEgsl, dHAMFAE 5 24 JI=2 dRFH
52,000,000& = 52,000
320. @I2t0lA 36,300 32,109 4,191
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Al Ol &F Ml A
SIHAS 20234
SOINES EW DSENYY SFpedBel NTSA2AH =:(210)22H| ero @ e
n = ME m
i = O AF o & u] - o = 9l %
PSS R A= Ofl Ak E
210.01. LEt+=ZH| 8,300 9,400 A1,100
HMDSE ADE, SEES Oy, ZDE S 8,300,0008 = 8.300
210.02. 5222 % HMA 1,000 500 500
BRFSS BN DSYTHBY S 1,000, 0008 = 1,000
210.09. A& &EH|I S X bl 1,500 0 1,500
HuDSE SEANAE S B4 1,500, 0008 = 1,500
220. Odd] 1,200 600 600
220.01. =LHHHI 1,200 600 600
MNEA RFE Y] 1,200,000& = 1,200
430. S E XA 3,000 4,380 A 1,380
430.01. XFAEFE S HI 3,000 4,380 A 1,380
HMN=R NeE8Es ¢ IeE 2 S 3,000,000& = 3,000
M= 1,521,678 1,769,637 A247,959
2. INIRA2E 1,083,118 1,029,614 53,504
02.01. WHIACIAY| 830,118 776,614 53,504
02.01.05. CHErS H AR CI2AH| 830,118 776,614 53,504
110. Q1A bl 751,070 704,557 46,513




A E 0l & & A A

IHAHE 20234

UA4LS ZONNASE SR DHAAU AP WSS HHAAE 2:(110)2 A (o & e)
A = oI &b o4 gE= o &k = p) =
Ha o9 R 2 01l &k 24 z 2
110.02. JIEIR Q% 740,023 695,003 44,930
© tats A= 20 681,402
o 23 462,426
62 3,947 4002 +3 128 = 142,107
72 3,205,852 %3128 = 116,131
82 3,035,418 +5«128= 182,126
9= 1,838, 4482+ 12128 = 22,062
o SN0 45,000,000%= 45,000
o 24y 18,302
ERGPY: 10,902, 6008 %25 %50%= 10,903
8Lt 0/ot 3,312,000%! 15| «35% = 1,160
6 0lot 6, 138, 5002 *25] «25% = 3,070
ER[L} 3,457, 60021 *23| x20%= 1,384
PTER[fl 3,604,800 *23] * 15%= 1,082
3u 0/ 1,802, 4002 ¥23| % 10%= 361
24 oot 3,419, 20094 *23] *5%= 342
o Foupgt 26,040
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A E 0l & & A A

IHAHE 20234

UA4LS ZONNASE SR DHAAU AP WSS HHAAE 2:(110)2 A (o & e)
A = Ol &F oA gE= o &k = p) =
=.2 0fl b

ePIEE Ea= 5, 160

- 20-25\4 DIgt 10,0002 2% * 128 = 2,640

- 10~15\ DIgt 60,0002 1%+ 128 = 720

- 5~10 0|2 50,0002 +3% * 128 = 1,800

pEFs 11,520

- X 40,0002 %123+ 122 = 5,760

- RIS 20,0002 *24% « 122 = 5,760

R 40,0001 2% * 128 = 960

CHel & S| 50,0002 * 112122 = 6,600

L] 150,00021 %1% *128 = 1,800

ZN224Y 11,463 921+ 12 =251 2% 128 = 41,271

H ol g Al 14000021+ 12Z*128= 20,160

=R-EB [ 462,426,0008 %1/ 124231 x60%= 46,243

=R 21,960

62 165,0002 3% * 128 = 5,940

72 15,0002 +3%* 128 = 5,580

8,93 145,000 +6Z*128 = 10,440




A E 0l & & A A

IHAHE 20234

M4 B NGYSE SPUDHAQIAH NS HSSATAIAE =:(110)012Ab| G
2 2 Hug m
i = O AF o & u] - o = 9l %
PSS R A= Ofl Ak E
O UEEHN =x My 703,449,008 %1/12= 58,621
110.05. HIIE Atd| 11,047 9,464 1,583
© oI AI(CHESIH A) 38,535, 5009 *1/30+ 102 *86%= 11,047
320. 2I2t0| ™ 79,048 72,057 6,991
320.03. JIEtAREE 2 79,048 72,057 6,991
O HHELS(UEZAR) 79,048
o =0Ida 23 703,449,000& x4 . 5%= 31,656
o HABEH 242 703,449,000& *3.495%= 24,586
o E8E 2432 703,449,000 x1.75%= 12,311
o MIEE 23 703,449,000& *1.063%= 7,478
o LOA)RAEY 2 24,586,000 *12.27%= 3,017
02.06. AT &L STMITHS 253,000 253,000 0
02.06.01. AP L StMIICHS 253,000 253,000 0
260, s - A7 L SMIEHE 253,000 253,000 0
260.01. W= AP L StMAICH S 253,000 253,000 0
O 20234 WE - A7 L SHMICHIS 253,000,000& = 253,000
05. sSXAEH 77,000 280,000 A 203,000
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A E 0l & & A A
ST 20234
MHAE FHDSSEANE S ¥3 A3 =:(310)283 ol H )
A = oI &b o4 gE= o &t = p) =
HE o9l MR- 2 0] &k o8 z 2
05.01. =83 77,000 280,000 203,000
05.01.01. Z&2 X 77,000 280,000 £203,000
310. 2&2 77,000 280,000 £203,000
310.04. Zst3 77,000 280,000 203,000
O 84X L MEBFS3 77.000,0008= 77,000
07. DEBHAL 41,560 40,023 1,537
07.04. OIlHIHI 2 JIEk 41,560 40,023 1,537
07.04.01. Ot H] 16,560 15,023 1,537
510. 0IHIbl 2 DIEk 16,560 15,023 1,537
510.01. 0f1tI ] 16,560 15,023 1,537
© Chsrsll ol 16,560,0008= 16,560
07.04.02. HIXZES S 25,000 25,000 0
510. CibIbl & DIEk 25,000 25,000 0
510.02. Bteta 25,000 25,000 0
O K&l 2 M= +HZ v 10,000,0002'= 10,000
O XE 2 MEM 23 e 15,000,0008/= 15,000
08. =L CHAZ Y] 320,000 420,000 ~100,000
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m

{0
]
{0

Jo| o
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08.01.

320,000

420,000

100,000

08.01.

280,000

380,000

100,000

210.

270,000

368,000

/98,000

21,000

21,000

© © o0 ©o

13,000, 000& =

2,000,000& =

5,000,000 =

1,000,000& =

13,000

2,000

5,000

1,000

210.02.

9,480

9,500

220

©

['I
oy

10

1,000,000 *93| =

240,000& »23| =

9,000

480

210.04.

w
1z

211,840

259,840

48,000

1,264,000 x160% =

15,000& 43| +160H

211,840

202,240

9,600

]

210.07.

fu

7,680

5,910

1,770

640,000 128 =

7,680
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Ol &F

IHAHE 20234
== IR =LUHEHI [ NI S :8te 429 (210)=2<Hl G dd)
ot = o = x| I—TI] = =
HE 9 N2 arey =T
210.08. ==Hl 10,000 20, 210,000
Shal A 2 2t 10,000,000& = 10,000
210.09. Al & HI=Xlbl 10,000 51, A41,750
Shali A = 10,000,000& = 10,000
430. SE X4 10,000 10, 0
430.01. Rt&HFSHI 10,000 10, 0
StlgE 24 285 7Y N&Jl, &&71 & 10,000,000& = 10,000
08.01.02. EMI=HA2H 40,000 40, 0
110. e/Ad| 40,000 40, 0
110.03. &=z 40,000 40, 0
BN ZAZ 20,000, 000& <28t 7| = 40,000
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